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CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 3

TU .
Q)If 6 + ¢ = PE what 1s the value of (\/§+tane)

(\/§+ta11¢)?
(@) 1 ® -1 @4 D -4 of;i - T
14 fg(v‘onw fan g + fand Tan T
fl + fme Tenf fon(o+g) - An.
b 1 (1~ g Fing)) 4 fing tng + fang 1
:@ [ - fne fang V3

/3 ( fano + faﬂﬁ) - [ fang %m/f
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L .
Q)If 6 + ¢ = PE what 1s the value of (\/g-f-tane)

(\/§ +tan ¢) ?
(@) 1 (b) -1 (c) 4 d -4

Ans: (c)
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Q) If sec © + tan O =x, then sec 6 =2

@ xz:lM x;jl © Xt -1 @ xz:l
Jec*o — fan's = | +®
( SeC + fan@) (feco ~ fno) < | 3 5eCh - ,\ y
Z(QQCG -fmo)z/ fele - i(l_j_[)
Secs - fon@ = ’7(/,——® AN

QIQVU) feCO 4 7[07)0?% - @
—_—
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Q) If sec 6 + tan 6 = x, then sec 6 =72

9

(a) (b)

X 2x

(©)

Ans: (b)
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Q)Ifcos? 6 —sint 6 = 3 then the value of 2 cos®0 — 1 is
@0 O 1 2@ 2
e 3 2

(CM % + S7nlc9)(co££9~ S'/‘DQH) - _i?\
— 3

/ («?OMLB’/) o _°?_
3

W)

Cos’s - ¢/’ )

Aeot’y - |
| -&smte
[ +Tom’0
—Fane
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2
Q)Ifcos? 6 —sin? 6 = 3 then the value of 2 cos?0 — 1 is

@ 0 (b) 1 (©) (d)

W | 1N

2

Ans: (c)
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l geCLSIoﬂ/ EXAMS
R ———
Q) If cosec 39° =x, the value of o S_EE@ + sin? 39°+t311351°)
] 9°'6/'9 m ——_ s
E— 5 1s 0§, 0 COSL(%O»Z?") COSec‘(‘i \}m -
sin” 51°sec” 39° ,p S 5 1 ~ .
S~ ""’(/7003“ (‘79"'3?‘9) coser —— 7 Sec

/ . & v

L

. L.,0

9in*s)’ co¢"5/° + S5 - — —
4 — - SIn®5/° cocects/®

A~ AN

/ 00~f602370-—- — __L__ 0
4T J / \ Sec 51" = Cosec (1 ~6/‘?
c z Cec51" - cosec” 31
= [-3+ 2t
= - 4% - %l’/

A A~
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]

Q) If cosec 39° =x, the value of .
1 .
S

.M ” 1
sin” 51°%sec” 39°

Ans: (c)

2
osec” 51°

+sim? 39°+tan?51°

@i=]
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Q) If sin®o. = cos’o., then the value of (cot®c — cot’ar) is

@1 ® 0 (©) —1) @ 2

/= oS 2
f oS o COM((MQX) __,)

wcq - ot Sec o ( e of ~1)
Secx (?(anto()

/ f/n 0§ — f;»zﬂ‘ <
Cos A w&zﬂ( Oof%p{
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Q) If sin’c. = cos>a., then the value of (cot®o — cot?ar) is

(@) 1 (b) O () —1 (d) 2

Ans: (a)
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Q)If p =cot 6 + tan 6 and g = sec 6 — cos O, then 2y

3 ¢
5 - 2 /5 sm Ty X s
(ng)e‘-(qu)?’ 1s equal to (1 /D) (!ﬁrﬂﬂ !;nﬁwfﬂ)

Y O 1
8 ) V(Gfg 3 - ( o \ T3

/s o

) \ , 530

p=Cotb 4 fint (2?)%";_/_,* 0 $n%0
s coso | (P Ty o' Coso T are

p=oostotginty _ s | . er

fno coso fmo oSO [ = el

< —

00S6 0ps & (/0

Z- / \wfﬁ'z_g_m’ze_ l
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Q)If p =cot 6 + tan 6 and g = sec 6 — cos O, then

5 2 4 2.
(P°p3(q"p)® 18 equal to

@@ O b) 1
(c) 2 (d) 3

Ans: (b)
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COs X cos X ,
Q)If - + 1 =2, then which one of the /
cosec X  Cosec X Cocy / I
following 1s one of the values of x? [ +SeC X [ - coSecx
T T T o
r ki _ X _qofx
[ —coSec X [—eoSec X
N @ = ) !
4 , 6 ’/fp\ + {3 - t —
ohick with opfims, g "= G(ek) (B
—
('a) 0 10 = | _

h s k-
U JEEE _
A 0 LY e ;@/




CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 3

""?Cq[x - a?wfx

[ - coSectx (0Sec*x —|

Cofx = |

X:WY

- a?cmlz

ofr L
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COS X COS X

Q)If + =2, then which one of the
1 +cosecx cosecx—1

following 1s one of the values of x?

z z
@ > ® 5
7 .
© 5 @

Ans: (c)
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Q) Consider the following statements : 5 — 0 o ys®[ Sine < s&

1. sin66° 1sless than cos66° '(

9 0 ¢
2. sin26° is less than co0s26°, 6 — ys* fo fo / (08 7 w_ge/_
Which of the above statements 1s/are correct ?
(@) 1only (B) 2only
(¢) Bothland2 (d) Neither 1 nor2
© 0 90° :
) ¢ N 0

', : ¢ (YemAl D

b N | L Sipa— P “(f ’f‘“ o f*“'“ 0 (ffj_—-

. ; 0 s — decyess)
=y ’/\/‘g - ‘ﬁ
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Q) Consider the following statements :
1. s1n66° 1sless than cos66°
2. sin26° 1s less than cos26°
Which of the above statements 1s/are correct ?

(@) 1only (b) 2only
(¢) Bothland?2 (d) Neitther 1 nor 2

Ans: (b)
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_ s 6+ coso
Q)If snO+cosO=a and — =b, then
— smmoOcoso
" 2a 2b
= a=
() ab=5b"—1 (d) a+b=1
2L L: a

I+ 3¢y cose = &

Und Cosd = ot/

—

&

|
A
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_ simnB+cosO
Q)If sinB+cosO=a and — =b, then
simBOcosH
, 2a 2b
= a=
@ b= ©) 7=
©) ab=5b"—-1 (d) a+b=

Ans: (a)
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Q)If x=psecO and y=¢gtan6 then
@ x*-y*=p’q’ ®) x*q*—y*p* =pq

1
(© x*q*—y*p*= 22 @ x*q* - y*p* = p*q”
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Q)If x=psecO and y=¢gtan6 then
@ x*—y*=p’q’

1
© x*q*—y*p* = 2 @ x*¢*—y

Ans: (d)

2p2 —

b) x*q* —y*p* = pq

p*q*
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200+
Q) Ifsin o+ cos B =2 (0°< [3 < Ci, <90°), then sin [ ) =

\ N~ s e ) 3

AW | S

(a) sin— (f cos
d 11n— cCOS —
2 3

o [4X90°H0) = S/ (i@:/
(C) Siﬂ% (d) COS 2?0: SIn (“z q ZO? p
0 0 a = 577){000 > \[§
Sind + 3in (9°-p) =2 2 f = 90° 3
Sin%" + Sty (qp"-o) - q B-0f

: i fi’nwws,&:i
(Max- e o/ sme = & ( 7[ 7 =] 7 A= (Zf/;

Cose 2/ S 009,3 ¢/,’7 ﬁjoo {D
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200+
Q) Ifsin o+ cos f =2 (0°<B <o <90°), then sin | =5 | =
_« @
(@) sin— (b) cos —
2 D
_a ; 2a
(c) sin ; (d) cos 3

Ans: (b)
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Q) If sec x cosec x = 2, then what 1s tan™ x + cot™ x equal to?

@ 2 ) 20!
(¢) 2n (d 2n-1
—— =4 fan"yso + oof"45°

Cosx Sinx o
- -/—/" - [+/ = @

[ = Jomxcosn

= S

7 q1=90° 7 =y
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Q) If sec x cosec x = 2, then what 1s tan™ x + cot™ x equal to?

(@) 2 (b) 2o+ 1
(c) 2n (dy 2n—1

Ans: (a)
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cos? A —sin? A L10 9
equal to
0052 A - sin2 A d
(a) cos? A—sin® A (b) cos A—sin A

© 1 d) 2

Q) What 1s
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0034 A — sin‘4 A

Q) What 1s equal to ?
cos® A —sin® A 1
(a) cos? A—sin® A (b) cos A—sin A
© 1 d) 2

Ans: (c)
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Q) If 7 sin?x + 3 cos® x =4, 0< x< 90°, then what is the value of

tan x? e
@ 2 (b) 1
V3 1
() 7 ) \/g
_ 0,0
Toin®a + 3 -390’ =y X = 30
’75'/07)2’1 =/ ’/awx > ¢an30° 2 ,/,
] V3
K/DQX - _/— W

Lf 0 e/e
J;n% :J_/ 74,, 0<Z<40°:7 anx IS /DOS/%/VC)
4
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Q) If 7 sin?x + 3 cos® x =4, 0< x< 90°, then what is the value of

tan x?

@ 2 (b) 1
e 1

(¢) 7 (d) \/g

Ans: (d)
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Q) Ifsinx + sin?x = 1, then what 1s the value of cos®x + 2costx

+ cos?x ? — )
(@ O (b) 1 Yy Ly
o @ 4 (cos¥x + cos* )
Q?;VQD/ ¢ anx ,f. f;n x) L
g;y) r = codx ( /
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Q) Ifsinx + sin?x = 1, then what 1s the value of cos®x + 2cosfx
+ cos?x ?
@ O (b) 1
(c) 2 (d 4

Ans: (b)
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Q) What is the value of
cosec268° + sec?56° — cot234° — tan222° ?
|
@ O (b) )
© 1 Ly 2

Cosec68° + sectst’ — 7«”2%0_ Cm‘lé@o

) oy 0
(@mciﬁﬂ ~ Ce‘fzwy + (S'GCLS”GO’ Ty fb)
l +/ = 2

e
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Q) What is the value of
cosec268° + sec?56° — cot234° — tan222° ?
@ O (b) )
¢ 1 d 2

Ans: (d)
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Q) Iftan® +cot0 = i,where 0<9<§, then sin® + cosO is

equal to
@ 1
J3+1

2

()

/
Qlona 050

4n 6 €056

J3

-4
Vi

= V2

6(

—

n B
d 2
3sino coso = 1
3 /
!;no?g 2 &@ :\Z_;_
A

\—/‘ 5’7n§o° + 60920°
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Q) Iftan® +cot0 = i,where 0<6< g then sin® + cosO is

NE
equal to
@ 1 (b) %
@ B! @ 3

Ans: (c)
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Q) What is sin*0 — cos*0 equal to for any real number 67

@) 1 (b) 1-2sin%0
() 2cos?0+1 (d) 1-2cos?0
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Q) What is sin*0 — cos*0 equal to for any real number 67

@) 1 (b) 1-2sin%0
() 2cos?0+1 (d) 1-2cos?0

Ans: (d)
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1

Q) If tan® x + oy 2 and 0° <x<90°, then what 1s the

value of x 7

(@) 15° (b) 30°
(o) 45 d) 60° fan - [
(f/am-fqﬁ,i " 2 =3 =45’
0
)
’fanu,L ) - ‘/
fant

7[am+ 1L = d <FW b’<a< ?00/ '/anx 70(7%))

— i
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1
Q) If tan? x +
fan™ x
value of x ?
(@) 15°
(c) 45°

Ans: (c)

=2 and 0° <x<90°, then what 1s the

(b) 30°
d) 60°



CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 3

l—sinx ] —sin x COS X
Q)pr=\/ —,q = b= .

l+sin x COS X l+sin x

then which of the following 1s/are correct ?
J/ p=q=r

2. p =qr

Select the correct answer using the code given below.

(@) 1 only (b) 2 only
y Both 1 and 2 (d) Neither 1 nor 2

_ 0 _qQ
f’ /- §nx ZZ ~ "= 3991(‘ imx) =

2 o
Cosx I~ Upax
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l—sinx ] —sin x COS X
Q)pr:\j q= r=

l+sinx’ cosx ~ l+sinx
then which of the following 1s/are correct ?
. p=g=r
2 p2 = gr
Select the correct answer using the code given below.
(@) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

Ans: (c)
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3 3

Q) If sin x + cos x = p and sin’x + cos’x = g, then what is
p3 — 3p equal to ?
@ O (b) —2¢

(c) 2g (d) 4q
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3 3

Q) If sin x + cos x = p and sin’x + cos
p3 — 3p equal to ?
@ O (b) —2¢

() 2g (d) 4q

x = ¢, then what 1s

Ans: (b)
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Q) What is (cosec x — sin x) (sec x — cos x) (tan x + cot x)
equal to ?
(@) sin x + cos x (b) sin x — cos x
() 2 (d 1
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Q) What is (cosec x — sin x) (sec x — cos x) (tan x + cot x)

equal to ?
(@) sin x + cos x (b) sin x — cos x
() 2 (d 1

Ans: (d)
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Q)If sec 6 + tan 6 = 2, then what 1s the value of sec 6 ?

(a) (b) V2

3
2
5
(© B

5
(d) 2
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Q)If sec 6 + tan 6 = 2, then what 1s the value of sec 6 ?

(a) (b) V2

3
2
5
(© B

5
(d) 2

Ans: (d)
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(sin © + cos 0) (tan 0 + cot 0)

Q) What 1s
sec 0 + cosec O

equal to?

(@ 1 (b) 2
(¢c) sin® (d) cos 6
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(sin © + cos 0) (tan 0 + cot 0)

Q) What 1s equal to?
sec 0 + cosec O
(@ 1 (b) 2
(¢c) smn® (d) cos 6

Ans: (a)
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1+2smécosb

Q) If a° = - 2sn0cosd’ then what 1s the value of

a+1?

a—1
(a) sec O (b) 1
(c) 0 (d) tan 6
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1+2smécosb

Q) If a° = - 2sn0cosd’ then what 1s the value of

a+l,

a—1

(a) sec O (b) 1
(¢ 0 (d) tan 6

Ans: (d)
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Q)If 3 sin x + 5 cos x = 5, then what 1s the value of
(3 cos x — 5 sin x)?

@ 0 (b) 2
(¢ 3 d) 5
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Q)If 3 sin x + 5 cos x = 5, then what 1s the value of
(3 cos x — 5 sin x)?

@ 0 (b) 2
(¢ 3 d) 5

Ans: (c)
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Q) The value of
cot 5°.cot10°.cot15°.cot60°.cot75°.cot80°.cot85° .

18
(c::)s2 20° + cos” 70°)+2

9 1 1 J3
N (b) 3 (c) 7 d) —

(@)
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Q) The value of
cot 5°.cot10°.cot15°.cot60°.cot75°.cot80°.cot85° .

18
(cos2 20° + cos” 70°)+2

(@)

1
il — H 2
7 (b) 5 (©) B (d)

Ans: (d)
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X
Q) If sin 17° = —, then sec 17° —sin 73° is equal to

Y
2
y Y
(@) y2 —X2 (b) (X«\/yz —XQ’ )
X XZ

(©) (y\/f? ) (d) (y\/y”j )
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X
Q) If sin 17° = —, then sec 17° —sin 73° is equal to

Y
2
y A
(@) y2 _XZ (b) (X«Jyz —XQ' )
X XZ

©) (y\/yzj j @ (yy? x|

Ans: (d)
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Q)If 0° < 6 < 90°, then all the trigonometric ratios can be
obtamned when
(a) only sin 6 1s given
(b) only cos 6 1s given
(¢) only tan 6 1s given
(d) any one of the six ratios 1s given
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Q)If 0° < 6 < 90°, then all the trigonometric ratios can be
obtamned when
(a) only sin 6 1s given
(b) only cos 6 1s given
(¢) only tan 6 1s given
(d) any one of the six ratios 1s given

Ans: (d)
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Q) If cos x + sec x = 2, then what cos" x + sec” x equal to,
where n 1s a positive integer?

@) 2 (b) 2"
(C) 211—1 (d) H1
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Q) If cos x + sec x = 2, then what cos" x + sec” x equal to,
where n 1s a positive integer?

@) 2 (b) 2"
(C) 211—1 (d) H1

Ans: (a)
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where K 1s a real number, then cosec A(3 sinA —4 sin”A)
is equal to

@ =2
VoK1
2K 1
v —<K <3
(b) K_l,where 3
2K 1
() ——, where K<< or K >3
K -1 3
2K
(d)

K+1
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2
3—tan” A4
If =K
Q) 1-3tan” 4
where K is a real number, then cosec A(3 sinA — 4 sin°A)
is equal to

@ 2K
VoK1
2K 1
v . —< K <3
(b) K_l,where 3
2K 1
() ——, where K<< or K >3
K -1 3
d
@ K+1

Ans: (c)
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Q) Iftan 6 = % then

(@) —% )

3smO—4cosO .
: 1s equal to:
3smBO+4cosH

2 2
3 (©) 3 (d)

W | —
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3sm0— :
Q) Iftan 6= 2 then ——— 0~ 4cos® is equal to:
3 3sm0O+4cosH
1 2 2
_Z < Y 2 @) =
(a) ; (b) ; (c) 3 (d) 3

Ans: (a)
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Q)If sin © = /3 cos 0, 0° < O < 90°, then the value of
2 sin? O + sec?0 + sind secO + cosech is:

. 33+20\/§ &) 194103
6
© 3341043 @ 19+10+3

3 3
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Q)If sin © = /3 cos 0, 0° < O < 90°, then the value of
2 sin? O + sec?0 + sind secO + cosech is:

@) 33+éo\/§ ) 19+éo\/§
© 33+;o\/§ - 19+;o\/§

Ans: (a)
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Q) What is the value of

[ 4.c0s(90 — A)sin® (90 + A) | -]
{= -
4sin(90 + A) cos> (90 — A)

[180+8A)
COS 2

@ 1 (b) -1 ) 0

d 2
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Q) What is the value of

 4¢0s(90 — A)sin® (90 + 4) |-
4 L o

' 4sin(90 + A)cos® (90— 4) |

(180 +8A)
COS 2

(@ 1 (b)y -1 (c) 0

Ans: (b)

d 2
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Q)If the sides of a triangle are 6cm, 10cm and 14 ¢cm, then what
is the largest angle included by the sides?

(@ 90° (b) 120°
(c) 135° (d) 150°



CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 3

Q)If the sides of a triangle are 6cm, 10cm and 14 ¢cm, then what
is the largest angle included by the sides?

(@ 90° (b) 120°
(c) 135° (d) 150°

Ans: (b)
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Q)If (sin x + cosec x)* + (cos x + sec x)*

= k + tan® x + cot® x,
then what 1s the value of k?
(a) 8 (b) 7
(c) 4 (d) 3
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Q)If (sin x + cosec x)* + (cos x + sec x)*

= k + tan® x + cot® x,
then what 1s the value of k?
(a) 8 (b) 7
(c) 4 (d) 3

Ans: (b)
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Q)Let 0<x< % then (sec2x — tan2x) equals

U TU

(a) tan(x—z) (b) tan[z—x]

(c) tan[x+£) (d) tanz(x+£]
4 4
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Q)Let 0<x< % then (sec2x — tan2x) equals

(a) tan(x—i] (b) tan[ﬂ—x]
1 1

(c) tan(x+§) (d) tanz(x+%]

Ans: (b)
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Q)If cos O + sec O = k, then what is the value of sin” @ — tan” 7
(@ 4—-k (B)4-K () KF-4 () kK¥+2
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Q)If cos O + sec O = k, then what is the value of sin” @ — tan” 7
(@ 4—-k (B)4-K () KF-4 () kK¥+2

Ans: (b)
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Q) If sin O + cos 8 = v/2, then what is
sin® O + cos® B + 6 sin“0 cos” O equal to?

@5 B> O @ 7
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Q) If sin O + cos 8 = v/2, then what is
sin® O + cos® B + 6 sin“0 cos” O equal to?

@5 B> O

Ans: (d)

(d)

7
4
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sin® 6 —cos® 6
Q)What 1s —; >— equal to?
sm- 6 —cos” 6
(@) sin®® — cos® O ) 1 — sin® 0 cos® 6
©) 1+ sin® 6 cos” 6 (d) 1 - 3sin’ B.cos” 6
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sin® @ —cos® 6

Q)What 1s —; >— equal to?
sm- 6 —cos” 6
(@) sin®® — cos® O ) 1 — sin® 0 cos® 6
©) 1+ sin® 6 cos” 6 (d) 1 - 3sin’ B.cos” 6

Ans: (b)
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Q)If secH —cosecH = % then what is (sin© — cos0)

equal to

(a) Only -2 (b) Only%

(c) Both -2 and % (d) Neither % nor —2
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Q)If secH —cosecH = % then what is (sin© — cos0)

equal to
(a) Only -2 (b) Only %
(c) Both -2 and % (d) Neither % nor —2

Ans: (c)
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Q)The value of cot(45° + 0) cot (45° — 0) 1s
(@) -1 (b) O c) 1 (d) oo
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Q)The value of cot(45° + 0) cot (45° — 0) 1s
(@) -1 (b) O c) 1 (d) oo

Ans: (c)
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. 2 2
Q) What is the value of : _2fm 60048 - + 4 equal to?
sin” O+cos” O

(@ 0 (b) 1 (c) 2 (d) 5
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. 2 2
Q) What is the value of 1__2fm 90048 - + 4 equal to?
sin” O+cos” O

(@ O (b) 1 (c) 2 d) 5

Ans: (d)
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3 900 3 700
cos” 20°—cos” 70°
3 3 K
sm” 70° —sm™ 20°

1 1
@ 5, O 7Z7 ©1

Q)The value of

@ 2
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3 900 3 700
cos” 20°—cos” 70°
3 3 K
sm” 70° —sm™ 20°

1 1
@ 5, O 7Z7 ©1

Q)The value of

Ans: (c)

@ 2
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Q) If the angles of a triangle are 30° and 45° and the included
side 1s (\/g + 1) cm, then what 1s the area of the triangle ?

(a) (\/3 -I-I) cm? (b) (\/5'1‘3) cm?

(©) %(\B-I-l) cm? (d) 2(\/§+1) cm?
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Q) If the angles of a triangle are 30° and 45° and the included
side 1s (\/g + 1) cm, then what 1s the area of the triangle ?

(a) (\/3 -I-I) cm? (b) (\/5'1‘3) cm?

(©) %(\B-I-l) cm? (d) 2(\/5+1) cm?

Ans: (c)
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Q) Consider the following :

cos A sin A

_|_
lI-tanA 1-cot4d
2. (1- sinA— cosA)? = 2(1-sinA) (1 + cosA)
Which of the above is/are identity/identities?

(@ 1 only (b) 2 only
(¢) Both 1 and 2 (d) Neither 1 nor 2

=cosA+sinA

L.
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Q) Consider the following :

cos A sin A

_|_
lI-tanA 1-cot4d
2. (1- sinA— cosA)? = 2(1-sinA) (1 + cosA)
Which of the above is/are identity/identities?

(@ 1 only (b) 2 only
(¢) Both 1 and 2 (d) Neither 1 nor 2

=cosA+sinA

L.

Ans: (c)
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Q) If o and B are positive angles such that o + 3 = g , then

what 1s (1 + tan o) (1 + tan 3) equal to?

@ 0 (b) 1
(c) 2 @ 3
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Q) If o and B are positive angles such that o + 3 = g , then

what 1s (1 + tan o) (1 + tan 3) equal to?

@ O (b) 1
(c) 2 (d) 3

Ans: (c)
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Q)If2 cos®x + 3 sinx — 3= 0, 0<x<180° the value of xis

(a) 30°,90°,150° (b) 60°,120°,180°
(¢) 0°,30°,150° (d) 45°,90°,135°
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Q)If2 cos®x + 3 sinx — 3= 0, 0<x<180° the value of xis

(a) 30°,90°,150° (b) 60°,120°,180°
(¢) 0°,30°,150° (d) 45°,90°,135°

Ans: (b)
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Q) If cosec O — sin O = p° and sec 6 — cos O = ¢°, then what is
the value of tan 67

P 4q 2 2
(@) p () » (¢) pq (d) pq
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Q) If cosec O — sin O = p° and sec 6 — cos O = ¢°, then what is

the value of tan 67
)%

P 4q 2 2
(@) p () » (¢) pq (d) pq

Ans: (b)
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Q) From an aeroplane flying about a
river at an altitude of 1200 m, it is
observed that the angles of
depression of opposite points on the
two banks of a river are 30° and 6. If
the width of the river is 3000 m, then
which one of the following is
correct ?

(a) 8 < 30° (b) 30°< 6 < 45°
(c)45°< 6 < 60° (d) 60°< 6 < 90°
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Q) From an aeroplane flying about a
river at an altitude of 1200 m, it is
observed that the angles of
depression of opposite points on the
two banks of a river are 30° and 6. If
the width of the river is 3000 m, then
which one of the following is
correct ?

(a) 8 < 30° (b) 30°< 6 < 45°
(c)45°< 6 < 60° (d) 60°< 6 < 90°

Ans: (c)
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Q)If cos O + sec O = k, then what is the value of sin’ O — tan” 07
(@) 4—k B 4-K () -4 (@ kK¥+2
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Q)If cos O + sec O = k, then what is the value of sin’ O — tan” 07
(@) 4—k B 4-K () -4 (@ kK¥+2

Ans: (b)
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